
WALL SYSTEMSFENCE SYSTEMS

MODULAR ACOUSTIC FENCING

MODULAR ACOUSTIC FENCING

HOME SYSTEMS

INSULATED ROOFING PANELS

® ® ®

STRUCTURAL INSULATED PANELSHOME IMPROVEMENTS®

DIY INSULATED PATIO KIT SYSTEM
Lightweight, maintenance free and fully insulated

‘PATIO in a PACK’ 
DIY INSULATED PATIO KIT SYSTEM 
Lightweight, maintenance free  and fully insulated 

 

 PATIO in a PACK uses the unique THERMASPAN® modular roofing system 

 Economical, durable, no maintenance 

 Provides excellent insulation for comfortable outdoor living  

 Easy to assemble and install due to our modular panel system 

 Available in long spans eliminating unsightly beams 

 Innovative ‘PanelLock’ joining system gives an attractive ceiling finish  

 THERMASPAN® Thermaduct makes cable access safe and easy 

 Available in Monospan and Corrospan roofing profiles 

 The external roof sheet is available in a choice of many colours 

 Internal ceiling lining is Off White steel and maintenance free 

 

Thermaspan® is a trademark of Stramit Corporation Pty Limited  ABN 57 005 010 195  trading as Stramit Building Products.  A member of the Fletcher Building Group 

™ 

www.insulspan.com.au

Mono span Steel Profile

Corrugated Steel Profile

•	 Our insulated Patio Kits use the unique INSULSPAN® modular roofing system

•	 Economical, durable, no maintenance

•	 Provides excellent insulation for comfortable outdoor living

•	 Easy to assemble and install due to our modular panel system

•	 Available in long spans eliminating unsightly beams

•	 Innovative ‘PanelLock’ joining system gives an attractive ceiling finish

•	 INSULSPAN® Thermaduct makes cable access safe and easy

•	 Available in Monospan and Corrospan roofing profiles

•	 The external roof sheet is available in a choice of many colours

•	 Internal ceiling lining is Off White steel and maintenance free



How to Install D.I.Y. Insulated Patio in a Pack 
Step 1  
Install Receiver Channel 
Drill the dynabolt holes in the wall then install 
the receiver channel using dynabolts. 

Step 2  
Fix Posts to Concrete Slab  
Drill the dynabolts into the slab, then bolt the 
post bases to the slab. Secure the posts to the 
post bases using wafer head screws. 

Step 3  
Install Roof Panels 
The separate roof panels are locked together 
with the corrugated overlap on one side of the 
panel overlapping the adjacent panel. 

Step 4  
Install “Z” Flashing & Gutter  
Install the “Z” flashing end caps, the gutter end 
caps, the gutter brackets and then the gutter.  

PATIO IN A PACK 6.1m X 3.0m - ITEM NUMBER 1141833 
LIST OF SUPPLIED COMPONENTS & QUANTITIES 

No Component Item No.  Qty 

1 Thermaspan (roof panel) x 3.0m 1141276 8 

2 Receiver Channel x 3.05m 1141280 2 

3 'Z' Flashing x 3.05m 1141275 2 

4 Z' Flashing End Cap 1141278 2 

5 Barge Capping x 3.0m 1141421 2 

6 Gutter x 3.05m 1141710 2 

7 Gutter End Caps 1141711 2 

8 Gutter Brackets 1141712 6 

9 Posts x 2.4m 1141604 3 

10 Post Base 1141605 3 

11 Post / Beam Connectors 1141606 3 

12 Beam x 3.05m 1141607 2 

13 Beam Join Connectors 1141608 1 

14 Beam End Caps 1141609 2 

15 Screw SD Hex Neo Class 4 14-20 x 115 1141709 40 

16 Rivets A/S 5-4 Surfmist 2460935 400 

17 Wafer Head 10-16 x 16 Class 4 Colour  2415883 200 

18 M8 x 90mm Galvanised Dynabolts 2269197 16 

19 M12 x 115mm Galvanised Dynabolts 2262802 4 

No PATIO in a PACK Complete Kits Qty Item No.  
‘DO IT YOURSELF’ 

Insulated Patio Kits 

 

1 PATIO in a PACK  6.1X3M Insulated Kit  1 1141833 

2 PATIO in a PACK  3.05X2.4M Insulated 1 1141834 

3 PATIO in a PACK  3.05X2.4M Slimline 1 1141835 

4 PATIO in a PACK Gable Kit 8X4.4M Ins. 1 1142211 

How to Install D.I.Y. Insulated Patio in a Pack 
Step 1  
Install Receiver Channel 
Drill the dynabolt holes in the wall then install 
the receiver channel using dynabolts. 

Step 2  
Fix Posts to Concrete Slab  
Drill the dynabolts into the slab, then bolt the 
post bases to the slab. Secure the posts to the 
post bases using wafer head screws. 

Step 3  
Install Roof Panels 
The separate roof panels are locked together 
with the corrugated overlap on one side of the 
panel overlapping the adjacent panel. 

Step 4  
Install “Z” Flashing & Gutter  
Install the “Z” flashing end caps, the gutter end 
caps, the gutter brackets and then the gutter.  

PATIO IN A PACK 6.1m X 3.0m - ITEM NUMBER 1141833 
LIST OF SUPPLIED COMPONENTS & QUANTITIES 

No Component Item No.  Qty 

1 Thermaspan (roof panel) x 3.0m 1141276 8 

2 Receiver Channel x 3.05m 1141280 2 

3 'Z' Flashing x 3.05m 1141275 2 

4 Z' Flashing End Cap 1141278 2 

5 Barge Capping x 3.0m 1141421 2 

6 Gutter x 3.05m 1141710 2 

7 Gutter End Caps 1141711 2 

8 Gutter Brackets 1141712 6 

9 Posts x 2.4m 1141604 3 

10 Post Base 1141605 3 

11 Post / Beam Connectors 1141606 3 

12 Beam x 3.05m 1141607 2 

13 Beam Join Connectors 1141608 1 

14 Beam End Caps 1141609 2 

15 Screw SD Hex Neo Class 4 14-20 x 115 1141709 40 

16 Rivets A/S 5-4 Surfmist 2460935 400 

17 Wafer Head 10-16 x 16 Class 4 Colour  2415883 200 

18 M8 x 90mm Galvanised Dynabolts 2269197 16 

19 M12 x 115mm Galvanised Dynabolts 2262802 4 

No PATIO in a PACK Complete Kits Qty Item No. 
 

‘DO IT YOURSELF’ 
Insulated Patio Kits 

 

1 PATIO in a PACK  6.1X3M Insulated Kit  1 1141833 

2 PATIO in a PACK  3.05X2.4M Insulated 1 1141834 

3 PATIO in a PACK  3.05X2.4M Slimline 1 1141835 

4 PATIO in a PACK Gable Kit 8X4.4M Ins. 1 1142211 

How to Install D.I.Y. Insulated Patio in a Pack 
Step 1  
Install Receiver Channel 
Drill the dynabolt holes in the wall then install 
the receiver channel using dynabolts. 

Step 2  
Fix Posts to Concrete Slab  
Drill the dynabolts into the slab, then bolt the 
post bases to the slab. Secure the posts to the 
post bases using wafer head screws. 

Step 3  
Install Roof Panels 
The separate roof panels are locked together 
with the corrugated overlap on one side of the 
panel overlapping the adjacent panel. 

Step 4  
Install “Z” Flashing & Gutter  
Install the “Z” flashing end caps, the gutter end 
caps, the gutter brackets and then the gutter.  

PATIO IN A PACK 6.1m X 3.0m - ITEM NUMBER 1141833 
LIST OF SUPPLIED COMPONENTS & QUANTITIES 

No Component Item No.  Qty 

1 Thermaspan (roof panel) x 3.0m 1141276 8 

2 Receiver Channel x 3.05m 1141280 2 

3 'Z' Flashing x 3.05m 1141275 2 

4 Z' Flashing End Cap 1141278 2 

5 Barge Capping x 3.0m 1141421 2 

6 Gutter x 3.05m 1141710 2 

7 Gutter End Caps 1141711 2 

8 Gutter Brackets 1141712 6 

9 Posts x 2.4m 1141604 3 

10 Post Base 1141605 3 

11 Post / Beam Connectors 1141606 3 

12 Beam x 3.05m 1141607 2 

13 Beam Join Connectors 1141608 1 

14 Beam End Caps 1141609 2 

15 Screw SD Hex Neo Class 4 14-20 x 115 1141709 40 

16 Rivets A/S 5-4 Surfmist 2460935 400 

17 Wafer Head 10-16 x 16 Class 4 Colour  2415883 200 

18 M8 x 90mm Galvanised Dynabolts 2269197 16 

19 M12 x 115mm Galvanised Dynabolts 2262802 4 

No PATIO in a PACK Complete Kits Qty Item No.  
‘DO IT YOURSELF’ 

Insulated Patio Kits 

 

1 PATIO in a PACK  6.1X3M Insulated Kit  1 1141833 

2 PATIO in a PACK  3.05X2.4M Insulated 1 1141834 

3 PATIO in a PACK  3.05X2.4M Slimline 1 1141835 

4 PATIO in a PACK Gable Kit 8X4.4M Ins. 1 1142211 

How to Install D.I.Y. Insulated Patio Kit

INSULSPAN® 6.1m x 3.0m - Item Number 1141833 
list of supplied components & quantities

1300 132 787 
sales@quickbuiltsystems.com.au 
www.quickbuiltsystems.com.au

Proudly manufactured in  
Australia by:

Step 1 
Install Receiver Channel

Drill the dynabolt holes in the wall 
then install the receiver channel using 
dynabolts.

How to Install D.I.Y. Insulated Patio in a Pack 
Step 1  
Install Receiver Channel 
Drill the dynabolt holes in the wall then install 
the receiver channel using dynabolts. 

Step 2  
Fix Posts to Concrete Slab  
Drill the dynabolts into the slab, then bolt the 
post bases to the slab. Secure the posts to the 
post bases using wafer head screws. 

Step 3  
Install Roof Panels 
The separate roof panels are locked together 
with the corrugated overlap on one side of the 
panel overlapping the adjacent panel. 

Step 4  
Install “Z” Flashing & Gutter  
Install the “Z” flashing end caps, the gutter end 
caps, the gutter brackets and then the gutter.  

PATIO IN A PACK 6.1m X 3.0m - ITEM NUMBER 1141833 
LIST OF SUPPLIED COMPONENTS & QUANTITIES 

No Component Item No.  Qty 

1 Thermaspan (roof panel) x 3.0m 1141276 8 

2 Receiver Channel x 3.05m 1141280 2 

3 'Z' Flashing x 3.05m 1141275 2 

4 Z' Flashing End Cap 1141278 2 

5 Barge Capping x 3.0m 1141421 2 

6 Gutter x 3.05m 1141710 2 

7 Gutter End Caps 1141711 2 

8 Gutter Brackets 1141712 6 

9 Posts x 2.4m 1141604 3 

10 Post Base 1141605 3 

11 Post / Beam Connectors 1141606 3 

12 Beam x 3.05m 1141607 2 

13 Beam Join Connectors 1141608 1 

14 Beam End Caps 1141609 2 

15 Screw SD Hex Neo Class 4 14-20 x 115 1141709 40 

16 Rivets A/S 5-4 Surfmist 2460935 400 

17 Wafer Head 10-16 x 16 Class 4 Colour  2415883 200 

18 M8 x 90mm Galvanised Dynabolts 2269197 16 

19 M12 x 115mm Galvanised Dynabolts 2262802 4 

No PATIO in a PACK Complete Kits Qty Item No.  
‘DO IT YOURSELF’ 

Insulated Patio Kits 

 

1 PATIO in a PACK  6.1X3M Insulated Kit  1 1141833 

2 PATIO in a PACK  3.05X2.4M Insulated 1 1141834 

3 PATIO in a PACK  3.05X2.4M Slimline 1 1141835 

4 PATIO in a PACK Gable Kit 8X4.4M Ins. 1 1142211 

Step 3 
Install Roof Panels

The separate roof panels are locked together with the 
corrugated overlap on one side of the panel  
overlapping the adjacent panel.

Step 2 
Fix Posts to Concrete Slab

Drill the dynabolts into the slab, then bolt the post 
bases to the slab. Secure the posts to the post 
bases using wafer head screws.

Step 4 
Install “Z” Flashing & Gutter

Install the “Z” flashing end caps,  
the gutter end caps, the gutter  
brackets and then the gutter.

How to Install D.I.Y. Insulated Patio in a Pack 
Step 1  
Install Receiver Channel 
Drill the dynabolt holes in the wall then install 
the receiver channel using dynabolts. 

Step 2  
Fix Posts to Concrete Slab  
Drill the dynabolts into the slab, then bolt the 
post bases to the slab. Secure the posts to the 
post bases using wafer head screws. 

Step 3  
Install Roof Panels 
The separate roof panels are locked together 
with the corrugated overlap on one side of the 
panel overlapping the adjacent panel. 

Step 4  
Install “Z” Flashing & Gutter  
Install the “Z” flashing end caps, the gutter end 
caps, the gutter brackets and then the gutter.  

PATIO IN A PACK 6.1m X 3.0m - ITEM NUMBER 1141833 
LIST OF SUPPLIED COMPONENTS & QUANTITIES 

No Component Item No.  Qty 

1 Thermaspan (roof panel) x 3.0m 1141276 8 

2 Receiver Channel x 3.05m 1141280 2 

3 'Z' Flashing x 3.05m 1141275 2 

4 Z' Flashing End Cap 1141278 2 

5 Barge Capping x 3.0m 1141421 2 

6 Gutter x 3.05m 1141710 2 

7 Gutter End Caps 1141711 2 

8 Gutter Brackets 1141712 6 

9 Posts x 2.4m 1141604 3 

10 Post Base 1141605 3 

11 Post / Beam Connectors 1141606 3 

12 Beam x 3.05m 1141607 2 

13 Beam Join Connectors 1141608 1 

14 Beam End Caps 1141609 2 

15 Screw SD Hex Neo Class 4 14-20 x 115 1141709 40 

16 Rivets A/S 5-4 Surfmist 2460935 400 

17 Wafer Head 10-16 x 16 Class 4 Colour  2415883 200 

18 M8 x 90mm Galvanised Dynabolts 2269197 16 

19 M12 x 115mm Galvanised Dynabolts 2262802 4 

No PATIO in a PACK Complete Kits Qty Item No.  
‘DO IT YOURSELF’ 

Insulated Patio Kits 

 

1 PATIO in a PACK  6.1X3M Insulated Kit  1 1141833 

2 PATIO in a PACK  3.05X2.4M Insulated 1 1141834 

3 PATIO in a PACK  3.05X2.4M Slimline 1 1141835 

4 PATIO in a PACK Gable Kit 8X4.4M Ins. 1 1142211 

No  Component Qty Item No.

1  INSULSPAN® (roof panel) x 3.0m 8 1142514

2  Receiver Channel x 3.05m 2 1142521

3  ‘Z’ Flashing x 3.05m 2 1142516

4  Z’ Flashing End Cap 2 1142517

5  Barge Capping x 3.0m 2 1142519

6  Gutter x 3.05m 2 1142532

7  Gutter End Caps 2 1142533

8  Gutter Brackets 6 1142527

9  Posts x 2.4m 3 1142522

10  Post Base 3 1142523

11  Post / Beam Connectors 3 1142524

12  Beam x 3.05m 2 1142525

13  Beam Join Connectors 1 1142529

14  Beam End Caps 2 1142530

15  Screw SD Hex Neo Class 4 14-20 x 135 40 1142531

16  Rivets A/S 5-4 Surfmist 400 1142537

17  Wafer Head 10-16 x 16 Class 4 Colour 200 1142538

18  M8 x 85mm Galvanised Dynabolts 16 1142534

19  M12 x 130mm Galvanised Dynabolts 4 1142535

No INSULSPAN® Patio Kits Qty Item No.

1 INSULSPAN® 6.1x3m Insulated Patio Kit 1 1142539

2 INSULSPAN®  3.05x2.4m Insulated Patio Kit 1 1142540

Bunnings Store: _______________ Customer Name: ______________ Customer Phone: ___________ 
 
6. Please draw a rough diagram of your roof frame  
 
7. Once order form is complete, please take to the Bunnings Special Orders desk where a Team                        

Member will place your order for your DIY PATIO IN A PACK 

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

Bunnings Store: _______________ Customer Name: ______________ Customer Phone: ___________ 
 
6. Please draw a rough diagram of your roof frame  
 
7. Once order form is complete, please take to the Bunnings Special Orders desk where a Team                        

Member will place your order for your DIY PATIO IN A PACK 

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

Bunnings Store: _______________ Customer Name: ______________ Customer Phone: ___________ 
 
6. Please draw a rough diagram of your roof frame  
 
7. Once order form is complete, please take to the Bunnings Special Orders desk where a Team                        

Member will place your order for your DIY PATIO IN A PACK 

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

                         

9   350335 000437

WALL SYSTEMSFENCE SYSTEMS

MODULAR ACOUSTIC FENCING

MODULAR ACOUSTIC FENCING

HOME SYSTEMS

INSULATED ROOFING PANELS

® ® ®

STRUCTURAL INSULATED PANELSHOME IMPROVEMENTS®


